1299 134684

AN
NS
VAN
NS

R
'a’,

\
\
\
\

’
N
N

N
)
NN
NN
NN
3
W
N
N
N

\

N\
W

NN
0
)

N

AN

N
\

N

Tl

AR

NARNNRY
NVANRN

\
W
N
NS

A\
W

VAN
3§

i
it

N

\

il

2023-2024



1299_134684

TY-A1 @ X6 [1/4| | TY-8 ' X2 |1/4
TY-A2 e x6 | 1/4 Ana-P1 | @0 X2 |1/4
TY-A3 2150mm | x3 |1/4| |[TY-B40 | .5 |M6x30 |x45|1/4
TY-A4 [] [2907mm |x3|1/4| |TY-B41 | —= |M6x50 |Xx6 |1/4
TY-A5 3406mm | x3 [1/4| |TY-B42 & |M8x16  |x10(1/4
TY-A6 5000mm | x3 |2/4| [TY-B43 | 5 |M8x20 |x66|1/4
TY-B7 (1 |3543mm |x6 |1/4| |TY-B44 | D |M16x130 |x21|1/4
TY-B7a {1 |800mm |x3|1/4| |TY-B45 | e« |M6x12 |x12|1/4
TY-A8 1L, |5670mm | x5 |3/4| |TY-B46 < |M8x16 [x32|1/4
TY-A9 ~ | 5670mm | x3 |3/4| |TY-B47 M8 x32|1/4
TY-B10L 3496mm | x1|1/4| |TY-B48 M6 |x21|1/4
TY-B10R g_r 3646mm | x1|1/4| |TY-B49 < |M8 X76|1/4
TY-B11L 3646mm | x1 |1/4 TY-B50 | == |M12x100 x24|1/4
TY-B11R 3496mm | x1|1/4| |TY-B51 fu (ST4x10 |x12|1/4
TY-A12 | - |1690mm |x16|1/4| |TY-B52 fm | ST4.8x16|X56 |1/4
TY_A15 ..||” X3 1/4 Solar panel

TY-A6 | = x08|1/4| | somre. x20) 4/4
TY-B17 | =—— |800mm | x2 |1/4

TY-A18 | —— |800mm |x2|1/4

TY-1 = x15|1/4

TY-2 2 x10|1/4

TY-3 49 x10(1/4

TY-4 6 X6 |1/4

TY-5 B X6 |1/4

TY-6 0 x2 |1/4

TY-7 o) x2 |1/4

FR : SAV/INFORMATION /VIDEO/CONTACT
EN: AFTER-SALES SERVICE/INFORMATION/VIDEO/CONTACT

DE : REPARATUR-SERVICE UND ERSATZTEILE /INFORMATIONEN /VIDEO/KONTAKT

ES: SERVICIO POST-VENTA/INFORMACION/VIDEO/CONTACTO
IT: SERVIZIO ASSISTENZA/INFORMAZIONI/VIDEO/CONTATTO
PT: SERVICO POS-VENDA/INFORMAGOES/VIDEQ/CONTATO
PL: SERWIS TECHNICZNY/INFORMACJE/WIDEO/KONTAKT

NE: AFTER SALES SERVICE/INFORMATIE/VIDEO/CONTACT
HE: "xn wnin m>im/mety mnx/anpen yo

SAV.HABITATETJARDIN.COM

2023-2024




2023-2024



1134, 3.

(cm)

|
2
~~
o AR
< 1 ORI
®© N RN
5 AU
o AR ANNATA RN
AR
@ ORI
2 BN .,
© NSO ,
\\\\\\\ i © AN @
- ASAARRANNANNY
- W
a A
al W
~~
{{{{{{{ o
-
S
.l ey
| -
¢ ¢l
T
O
)]
N

2023-2024




(s

&

N

)

~

TY-A1 x6 TY-A2 x6 TY-A3 x3 TY-A4 x3 TY-A5 x3 TY-A6 x3 TY-B44 x21

VN . 5
oy

TY-AG TY-B48 x21

2023-2024



222222222




T

TY-B50 x24

2023-2024




i

TY-B7 x6

B

TY-B7a x3

S

TY-A16 x66

<

TY-B49 x66

)l

TY-B43 x66

s

TY-B52 x36

TY-B43

2023-2024



4
N
=
A
X
o
O
30










TY-B52 x10

TY-3 x5

TY-B40 x5

TY-2 x2

TY-1 x3

Solar panel x4

——<

<2

> 7

AR

& Z >
2
-, <>
\.—' — L X7

P

AR

®

AR

TY-2

TY-B40 Panneau Solaire
Solar panel

TY-

TY-A8

TY-B40

N\

b)

\

K \4

\

I
Y

..f\,
\

\
A

\

\

A

\

A
ANHNE
NN
O
NN
A

\

\\%

NN
INN,
N
N
s
\

|

<7

/

ANR D

\
N

\

N
N

\

\

,
,
\

y

\
",
\
,
\

,
,
\

\
N
Z,/%
\
\

\

——

AR

2023-2024




-
S
o™
2

g
.///,/ m
,/i ,,ﬂ/,,,,//,%m |
”%#wmﬁww#ﬁ%w@
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
,zhz0,,,,zzz,,,,z,,,,,,g,,”g,,”
,w,,#”,,g,”,ﬁ,%%ﬁﬂﬁﬁﬁz,”,”,ﬁz
; ,q,g,”,,zzzzzg,g |
2 ,,,,,,,,,,, ,,,,,,,,,,,,,,,, |
Z z,,zgz,,z”,,,,zzg,,,,,g,,”,
,#,””,,”,",”%,”%,”%”,%%,,"0,0,,”,0 |
a.,zz,zz,z,,,,zzz,,,,ggg. |
ﬁ" %%/i#%ﬂﬁhﬁuﬂ#;#,
,”,"”,,”,0,””,”,”%%,”,”%,",0,2,””,,,”% )
| \
iiiiiiiiii
,,,,ag,,,g gg”,,z”z,”zz
ma."gg"g”z,z”,z%z,,"z
_ i ,ﬁ,,,,,g,,/,,,,,/,; .
”,”,0,0,0,,0,”,0”,”, \5 ,”,”,””,",,”,",z
ﬁgg ,,%,"Mﬁ..
,,",z,,”,,,,”%,”%,,,",,#,",h,#,,zm,,”@m
m
,,0,”,”,5
I'
,,,,,, 0'
W
,,,”g,”,,
,”3,,,,
,,,,,,,,,,,,‘ ,
\ %
”,g,, i
m ,/,.,,,/,. \
3 ,” _ ”,V,”,”,,/,”
0 gf
5 W /QMMWM%/,M%%WWW
”,,g, ,,,,,, ,,,,,,\,
™ ,, , mﬂﬂﬁ/”ﬁm%%%//i:
w 0,,,”,””,”,,,”% ,””,,#,0”,”/ ‘
i U "0"Il ll 4
m 4 m/ : f | ‘
=P W
3 /M/M
N ! l
m =
iy m H N wm
W = m/ | |
W m :
© wm
W \._
5

|



(.

TY-A12 x16

==

TY-A16 x32

@)

TY-B46 x32

D

TY-B47 x32

2023-2024



2023-2024




Panneau Solaire

A

N - D
) ) Solar panel
& 3 N
L TY-ALR2 LS
TY-A8 TY-A8

olar panel
§anneaLP Solaire

2cm

%

2023-2024



TY-B41 x6

— T T
TY-A9 x3

[

TY-A9

TY-B41

(J

\FII/%@ \J
A
AR
2 O
SN
U
RN
AR
SRR
ORI
2 RO
- NN
AR N,
AN,
AR S
AR,
 AUIRUII
AN
SRS
AN ARRRREA
N AR
A NSRRI,
A A ANV ANRRRAANNY
A A AN ANRRAN
AR RARR
(RN
N AN e
RN )
G
QIR
R
ANANANANNSNANNNNY
ORI
LI NNNNNNNANRY
AN
NNNNNNANNNRN
VRN
ANARY
QN
W
W

\

o

2023-2024




TY-B51 x2

TY-B45 x6

-P1 x2

TY-8 x1

1 TY-B17 x1

TY-B10R x

TY-B10L «x1

[

4
N
=
)
X
o
O
30




(cm)

4
N
=
A
X
o
O
30

TY-B51 x2

TY-B45 x6

TY-8 x1

TY-B17 x1

TY-B11R x1

TY-B11L «x1
TY-B11L/D11R

e



10
X
B42

Y-

T

10
X
B49

Y-

T

|

(cm)

N
X
&
N
m
9
./
N\
A\
, ,4, / &
,,,,,,,,/,,, ,,z,,,, /_. 4
,ﬁﬂwﬁf# w,,#,,,#
g g,"z,,,,,z,,”gz ) f,,
3 ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
2 "%%MM#%WM@”WM%%M ,,,”M,“,”,m,”,”m,”,,,,
_ /, ,/,, ,,,, ,,,,, ,,,,
,zz,,zh,,zzz,f,f, &
zzz,zz”,zz”,f,,,,,,, 4
,,,h,,”,,”,,”,,”,”,%”,,,” ,,”,,”,,,,”,W ,,,”,%%,”,
z,”,”,#,h,,,”,,",”,%,,,",”,”%,%,,,%
:
5 ,,zz,,,z,,zzz",#,,,,,,
\ ,”,#,,”,””,,#,,”%0,,,0,#,”%,”,,”% .
\ ””,g,””,,,%,”,,”,”,,,z,ﬁ",,ﬁ,,%
qm
«
\Y \Y | &
© %%%M%#Wwﬁwwww 4
zzz,,,,,z" ) ,,,,,,,",,,,,,,,,,,
Ch,,,,,%,,,,”,”,”,,,%ﬁ,# .
,,,,,, ,,,,,,,,,, ,,,,, ,,,,,
z,,z” ”,,”z,”f,,,,,,,,,” &
0%%@%% g
,,,,,,,,,,,,,,/ | | |
@ ,”,,,”W,,”M,” /ﬁ b
,,”,”,0,” % % ,0,””,,”,”,”,”,”,,,,”,0”
%,,%,#,Z,”,”z,,ﬂ,,z,
C",”,,,,”,”,,%”,",”,,z#,”,”,” ”z,,,#,,,,,,%
C % ”,,”,”,”, ,”,”,0,”,”,,,”,”,# ,””,,”,0,"@.\
ggﬁ# ,,”,,,,”%,",,,,
Q,z”,z”,,”,z,”,,z”,”,”,,",”,”,g%w
@ (©




Anvmw
N\
N
AR
A
ATATAARANN
RN
AR
B
FEONE R ANTRANON ‘.
AR
RTINS
RN
E AORRIARR
; AN
3 R A
_ OO
- AR AR
A AN RN AN
RN
A AN RN
D
. RO A,
: L
. A A AN AN NN
AR
AR AR
NS ¢
(OO d
@ RN ANSRANN: W
O
= A
./z?%,ﬂa%a,\#,,”%«,%% /
IV SNNNNNANNRNY y
Qi
S
RIS g
QR £ ~
QR
W
\
,
>,
@
2

%
%'
\ \
)
'n'a
N

TY-4

L7

y
y
\

0\

y
)
\

y
\
\

y
\
y
\

\
\
y
\

y
y
\

\

y
”,
\

y
\

\
q

\

\

\

\
\
\

y
y
\

\
)

-
Lo

=

\
\

\
\

I

\

\

y
y
\

\

y
,"
y
y
\

\
\
\
N

\
,”
\

\

y
\

y
\

\

\

\

\
y
\

\

y
y
y
\

£

y
,”
\

\

\

y
\

\

|
)
{

y

\

y
\
\

y
y
\

\

I”

N N
u,
N
N
\
)

y
y
\

\

\
,”
\

\

N

\

y

\

,..
”,
\

\

\
\
W
N
\

\
\

\
%
\

\
\

\

\
,”
\

\

\

\

\

N
n,,

N

\
N

y
\
\

y
,0
y
\

y
\

\
\

y
\
\

i
!

\

y
\

\

)

y
\

\

\
;
N
y

\

\
”,
\

\
,,,
y
y

,0
\
\

'\

y
y

y
\

\

\
y

I

A\
N

\

\
\
\

N
\
\
N
!
\
\
\

\

\
,,,
y

\

N
%

0

\

\

\
y

\
\

\

N

|

I
|

\

\

\

\

y
y
\

\
N0\

\

\

K

\

\
,0
\

N
N
N
,,,,,'
N
W

A
\
\

h%
.%
y

%
%
\

,
,
y

”/'.,
A
AN
N
W
”Jm
\

\

\

y
\

y

\
\
\
\

%w
%w
y

%
,,a
\

a,,
m,
\

i
AN
N
AN
O

SN
mmmwMﬂqh
NN
N
N
II ,,,,I
NN
NN
N
QN
W
N
N
QO
NAN
N

\

,'

\

\

\

\ \

y
\

A
N
)
A
\
N
\

\

\

\

N

\
\

-

A\

y
y
\

\
,,,
W

N
' <,<I
)

N

\

mw
%w
y

\
\
y

\
\
y
y
y
\

\
)
y
y

-

W
NN
\
'\
N
NN
)
AR

\
\

y
y
y
\

,
”,
\
\
\

y
,”
0
=

N N

=
Q)

\
\N ,
NNNAN
NN
,,ﬁm

0
)

”
”
\
”

W

TY-5¢

\ 4/
Q

}
N

z”/w
\

N
R
;

I |
N
NN
Q)
N

NN

AN\
N

\ N

\
,”
y

y
y

h

\
\
\
N

W

Al

AV

W\ 4////\
N
W5
NN =N
N —
W
N
NN
!

N
\
\ AN

Al

&

4

\
\
y
\

\
y
y

\

y

N
N
\
\
\
y
\
y

=

\

N
\
WS
” .,
\ Nd
/ st
'n,
\
\
n,
)
VS
[

\
\

\
“Jm nnnnnnnnnnnnnnnnnnnqu
\ .““““““““““‘
\
"I..

4B

~
NS
VTR

2023-2024




- <3
TY-A18 x2 TY-A40 X8
4 \
=
TY-A18

Part TY-A18 is reserved for the installation of electrical box or invertor
La piece TY-A18 est réservée a l'installation de coffret électrique ou d'onduleur

2023-2024


Administrator
线条


Responsable de la commercialisation du produit / Company in
charge of commercializing the product / Responsable de la
comercializacion del producto / Responsabile della
commercializzazione del prodotto:

GECODIS SA

32, rue de paradis

75010, Paris, France

Service commercial/ Commercial service/ Servicio comercial /
Servizio commerciale :

Habitatetjardin.com

32, rue de paradis

75010, Paris, France

Assistance : +33(0) 147 70 33 64

Service aprés-vente/ After sale services/ Servicio post-venta /
Servizio dopo vendita:

GECODIS SA

32, rue de paradis

75010, Paris, France

http://sav.habitatetjardin.com

2023-2024



	未标题



